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EXCEL &%

Stepl : EHEARSER FHIBEXAS A

Gl - £ || ATANGSUM(SASS:SALONGST)* 180/3.14159
A B %E”E&K D E F G H I J

1 -
2 | TR 180 &
3 | AbERERE ECcm) 100 45y
4 | ABBREARARER iR cm) 200 A%y
— Rl s
2 20 40 60 80 100 120 140 160
8 ILs/2] X0 1T 08.19851 787 OL.3401% 39.80003 3200030 20.00002 22.0198% 19.0038 17.30401
9 Id 200 2 8542508774 80.90964 7650419 T2.25525 68.19852 64.35893 60.75111 57.3807
10is 100 3 8672941969 8348011 8027234 77110 7405453 71.07528 6819852 6543276
|20 4 8791734107 8584027 83.77408 872402 7969507 776919 75.71882 73.77973
[ T 5 8823751499 8647845 8472601 8298341 8125375 79.54001 77.84498 76.17127
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Step 1 %558 :

ZREH LA 180/% - EAEERMI, o)) lo; 04 o5 6], [6; ogl,...

JeR 2002857 AFGREARIE T 75 P EIRES -

KPR FLE (cm) 100 A5y

KIGRERCRELHF(em) 1002457
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1 I —
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0.2 O6 |05 |64 03 07 01
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P NGOG N FT TV NANNDNNLENN GO GN GF 5 g R g0
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Step 2 : ELARXKBEAFA N ZARE

EXCEL &%

D302 N Jr =TAEF=1'D351*COS(RADIANS(TfEZ1!$A351)) ]

= £ %?‘@Eﬁﬁ L E | 5 | B | 3 | : | |
297, 7525 14.75 0.254602 0 0 0.254602 0 0.254602 0.254602 0
298 75.2 14.8 0.255446 0 0 0.255446 0 0.255446 0.255446 0
299|  75.15 14.85 0.256289 0 0 0.256289 0 0.256289 0.256289 0
300 75.1 14.9 0.257133 0 0 0.257133 0 0.257133 0.257133 0
301 75.05 14,95 0.257976 0.257976 0 0.257976 0 0 0.257976 0
302 75 15 0.258819] 0.258819 0 0.258819 0 0 0.258819 0
303 7495 15.05 0.259662 0.259662 0 0.259662 0 0 0.259662 0
304 749 1510260505 0260{ 4 A s ¢ o & ¢ & n

305 74.85 15.15 0.261347 0.2613346 7525 1475 ] 0 0 ] 0 ] ]

= 347 752 148 I 0 0 I 0 I I

348 7515 1485 1 0 0 I 0 1 1

349 751 149 1 0 0 1 0 1 I

350 7505 1495 1 1 0 1 0 0 1

s 5] s C_1J o 1 0 0 1

352 7495 1505 1 1 0 I 0 0 1

353 49 151 1 1 0 1 0 0 1

34 7485 1515 1 1 0 1 0 0 1

355 748 152 1 1 0 I 0 0 1

36 7475 1525 1 1 0 I 0 0 1

357 A1 ] | 0 1 0 0 1

Ttz [JLfeE2 | THE3 | THSd | @
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Step 3 : %i%?%ﬁ%%%ﬁ@%

EXCEL &%

Bl S A RS ERY

ZfEHES
C1804 d N ﬁc‘ =(0.05/15)* SUM(C2:C1802)

KNEHAE ¢ HE D E F G H | )
1796 89.'?"1 0.999986292 0.999986 0.999986 0.999986 0.999986 0.999986 0.999986 (0.999986
1797 89.75 1 0999990481 099399 (099999 (099999 (0.99999 0.99999 (.99999 (.99999
1798 | 89.8 | 0.999993008 0.999994 (.999994 0.999994 (.999304 (0.999994 (.999994 (0.999994
1799 89.85 | 0.999996573 0.999997 0999997 0.999997 0999997 (.999997 0.999997 (0.999997
1800 | 89.9 | 0999998477 0.999998 0999998 0.999998 (0.999998 0.999998 (.999998 0.999998
1801 89.95 | 0.999999619 1 1 1 1 1 1 1
1802 | a0 1 1 1 1 1 1 1 1
1803 |
1804 | ZFEH B&- 3.'?63583191 3612407 3416353 3220608 3.04927 2913756 2806859  2.73219
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EXCEL &R &R

N AV 180 B
AIFEREiR B Eilcm) 100 2y
APEretRZEss RlRlcm) 100 25
4
e 1. BRRIBEEAE TR
= HE BT RE B B R KB Re R s
s 3 R RIRAER -
0 25 2 BEEREE R0
£ S —
AT
RO 1.5
11123
r !
" o= — A PEEERIE T 77
o — FEEe R R R

20 60 100 140 180 220 260 200 3240 380 420 460 500 540 580 620 660 700

R = [ (cm)
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— <00 >20 = 3.18
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FISRERE Elem) N FiEEe e Bilem) 300 25y
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0
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